Ex 2.6.4

(cg): m+4) "~ 9(m-9)x + m—- 4 =p
Qe se \aasseJc—d) Sowm= g 2
\a >: 0 f)a-4 <4 —o
L 1 %

= 3
ﬁw:{%%

2
x =7
) € a9 mows diskucks @ Ao el 47
© m#$ Y
D) & = b*-ltac = ¢lm-12) —Lt(vw‘f)(vm Cz)
= L —Aow + 16 ~Un? + GY
= —1fwm 4 90
A0 & w4 80 >0
30 > 46w
Bwm < 30
m<5
ICM&Q@ME: m<5 dvee wm #F -4,

b) €4 o pove wl & P=0

_ c



n—

s -0 & W =Y
48 Im +Y4 ( S .
c,) % 5 dwx @ 0ppoSees <) —
—b 2(m—2)

S0 & E:O@D =0 & p=0

It
dt\ 2 a dwx acws wveser & P=41

= m=4 _
Dt =1 & vy =1

/ =0
= m-Y =mt Yy & 3
= ('oot \Lv«possfbga {



